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A frequency distribution is as follows :

PYQ - 2024 - I
Marks |18-26 [27-35]|36-4445-53|54-62|63-71 |72-80
é E = _29_ - °?5
Number 3 = AAe
of 5 7 10 | 15 8 3 2
students '
Median tlag — 44§ — 53,5

What is the median of the distribu-

tion ?

(a) 44-9

(b) 435

(c) 459

@) 463
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A frequency distribution is as follows :

Marks |18-26(27-35|36-44145-53|54-6263-71 |72-80
Number

of 5 7 10 15 g 3 .
students

What is the median of the distribu-

tion ?

(a) 44-9
(b) 455
(c) 459

(d) 463
Ans: (d)

PYQ - 2024 - I
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What is the mode of the distribution ?

(a) 47-25
(b) 47-75
(c) 4825
(d) 4875

Mode

\)

\/

PYQ - 2024 -1l

L

7
Marks [18-26(27-35]|36-44 454-53 54-62163-71|72-80
Number /
of | 5 | 7 ( @ 3| 2
students
pANZ 1L

AR TEE

(‘/4-5“)- 53.6

A frequency distribution ihﬁfv‘ullﬂws :

s[5
Yy:5 + ( V)
/ Yy.5 +3-75

9
e




CDS 1 2025 LIVE CLASS - MATHS - PART 6

: stribution ?

- What is the mode of the distribution * PYQ = 2024 - Il
(a) 47-25

(b) 4775

(c) 4825

(d) 4875

Ans: (c)
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The arithmetic mean Df n numbers iS PYQ - 2024 - I
M. If the sum of first (» — 1) terms 1s £,
then what is the nth number ?

(a) M-k

(b) nM -k
() nM -k

(d) M - nk

N number = Jum 97[ n numbers —  Qum of (7)-/) numbers

= M- Ff
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The arithmetic mean of » numbers is
M. If the sum of first (n — 1) terms 1s £,
then what is the nth number ?

(a) M-k
(b) nM -k
(c) n(M - k)

(d) M — nk

Ans: (b)

PYQ - 2024 - I
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. What is the geometric mean of

3,9, 27, 81, 243, 729, 2187 ? PYQ - 2024 - I
Qb
(a) 81
(b) 105 C]M ] —
’/?/

(c) 144 : (aé)
(d) 243 /

?_

S ¢
: (3-32.33.37-3 3t 47)
L [+3+3+Y __ M :?9(%)
[+ 9+3 +Y+ 5‘+6H‘) 3 4
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. What is the geometric mean of
3,9, 27, 81, 243, 729, 2187 ?

(a) 81
(b) 105
(c) 144

(d) 243

Ans: (a)

PYQ - 2024 - I
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Let the positive numbers a;, ag, a3, ...., a3, be

in GP. If P is the GM of ay, ay, ag, ..., 3, and Q

PYQ - 2024 - 1|

is the GM of a_,1, 8,49, Ap4gs - B3p, then
what is the GM of 3n numbers ?

() P%Q f :(4’ “h ) ’
0 = (g sz s

© +PQ

(d) PUB sz‘d

AT
A

3
(M - (a, 4, Gy - 0y )
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Let the positive numbers a;, ag, a3, ...., a3, be
in GP. If P is the GM of ay, ay, ag, ..., 3, and Q
is the GM of a_,1, 8,49, Ap4gs - B3p, then
what is the GM of 3n numbers ?

(a) P2Q

b) PQ?

© +PQ
(d) PUB szﬂ

Ans: (d)

PYQ - 2024 - 1|
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QUESTION

The following observation have been arranged i1n ascending order:

v v v o v S

29 32,48, 52, x,x+3,71,75, 80, 92
If the medlan uf' data 1s 61.5, then what 1s the value of x?

(@) A (b) 60
(c) 62 (d) 56
6/-5 = {1 +3
n-=- [0 OLerV&HBUC [@Ven) g

= R

# H AA
M . 0) 552 -
Gt (e
s 4P DX+ Mediay
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QUESTION

The following observation have been arranged i1n ascending order:

29.32,48,52, x,x+3,71, 75, 80, 92
If the median of data 1s 61.5, then what is the value of x?
(a) M (b) 60
(c) 62 (d) 56

ANSWER : (b)
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QUESTION
If mean of y and 1 1s M, then what 1s the mean of
y g /
y and ;—3? (7 * '——3‘
) () M’ 0? Py d
3 + L) — Uy
() M’ -3 (d) M(4M2—3)/ ((7 j’ ( d (7 )
(" - # 2 :
— (o?MJS-— 3(0?/\4 §M°-6M
: - % ,g
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QUESTION

1 . :
If mean of y and — 1s M, then what 1s the mean of
Y

y and L‘1"

y3

M(M? - 3]

(b) M’

(c) M* -3 (d) M@AM? - 3)

ANSWER : (d)
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QUESTION
For the following frequency distribution. - moda/ clag ( mo ot a/w%@
/

Class ¢ o e

ooy | 0-5 [ 5-10 | 10-15 | 15-20| 20-25 | 25-30 les inside 4 modal a/a/%)
Frequency | 10 | 15 | 30 | (80)| 40 | 20
If m is the value of mode. then which one of the following
1S correct?
(a) S<m<10 (b) 10<m<15

(c) 15<m<20

(d) 20<m<25
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QUESTION

For the following frequency distribution:

Class
interval

0-51 5-10] 10-15 | 15-20 | 20-25| 25-30

KFrequency | 10 [ 15 | 30 80 40 20

If m 1s the value of mode. then which one of the following
1S correct?

(a) S<m<10 (b) 10<m<15
(c) 15<m<20 (d 20<m<25

ANSWER : (c)
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QUESTION

An average Indian family allocates its monthly income
under different heads as follows:

Items Percentage Share
Food 40
House Rent 15
Saving X
Transport 12
Miscellaneous 23

A pie diagram of this data is to be drawn. What is the
value of x, if the angle which the sector representing

saving makes at the centre is 36°?

(@ 13
(¢) 10

(b) 11
() 8

360 - X A 360(0
Y0 +15+X +13 +93

L=t
/0 90+ x
7 Fx = [Ox

Tx =90 =
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QUESTION

An average Indian family allocates its monthly income
under different heads as follows:

Items Percentage Share
Food 40
House Rent 15
Saving X
Transport 12
Miscellaneous 23

A pie diagram of this data is to be drawn. What is the
value of x, if the angle which the sector representing

saving makes at the centre is 36°?
@ 13 b) 11
(¢) 10 (d) 8

ANSWER : (c)
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QUESTION
Suppose X 1s some statistical variable with mean p. /N
Letx,,x,, ... x_beits deviations from mean with the respective JE— f
12 J) f
frequenmesf f,,...,1 . Whatis the value of the sum x f + o
X, £, + ... +X_ f'? [2008-11] V‘fz —h u- é(fo/f
(a) 0 (b) 1 |
(c) u (d) p+1 ﬁ's ——][3 27(

o= p (R
%, = /'{"dz 1/7[;/‘72{2,*"‘ Z”f”

CE e (g Gt

= A1

0

/l/, +/U/;,f/,(/g f,__./ufn — é‘f{/"da,%z’”&(B/z_
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QUESTION

Suppose X 1s some statistical variable with mean p.
Letx,,x,, ... x_beits deviations from mean with the respective
frequencies f f,,...,1 . Whatis the value of the sum x f +

X, L+ +Xx g? [2003 II]
(@ 0 (b) 1
(c) W (d) p+1

ANSWER : (a)
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QUESTION

Data on percentage distribution of area of land in acres
owned by households in two districts of a particular state
are as follows:

Land Holding District A District B
0.01-0.99 5.62 13.53
1.0-2.49 18.35 21.84
2.5-7.49 47.12 39.32
7.5-12.49 19.34 12.15
12.5-19.99 7.21 7.43

20.0-29.99 2.36 5.73
What 1s the appropriate diagram to represent the
above data? [2009-1]
(a) Piediagram (b) Histogram

(c) Bar chart (d) None of the above
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QUESTION

Data on percentage distribution of area of land in acres
owned by households in two districts of a particular state
are as follows:

Land Holding District A District B
0.01-0.99 5.62 13.53
1.0-2.49 18.35 21.84
25-7.49 47.12 39.32
7.5-12.49 19.34 12.15
12.5-19.99 7.21 7.43

20.0-29.99 2.36 5.73
What 1s the appropriate diagram to represent the
above data? [2009-1]
(a) Piediagram (b) Histogram
(c) Bar chart (d) None of the above

ANSWER : (c)
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QUESTION

The geometric mean of x and y is 6 and the geometric mean
of x, yand z 1s also 6. Then the value of z 1s [2017-11]

@ 12 ® 6
© 6 @ ¥s
ﬁ[zé = (W%:é 7 e
}/
Jyz -6 7 (142) ~ =6
’/VZZ 63
24 Xz = 6
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QUESTION

The geometric mean of x and y 1s 6 and the geometric mean
of x, yand z 1s also 6. Then the value of z 1s [2017-11]

() 12 ® 6
(c) 6 d) e

ANSWER : (c)
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QUESTION

Which one of the following 1s not correct?

The proportion of various items in a pie diagram 1s
proportional to the [2017-11]
(a) Areas of slices v/

(b) Angles of slices

(¢c) Lengths of the curved arcs of the slices 4

(d) Perimeters of the slices y o
0) xTyt = Area = Area f Wifh &f

—

36p° (D

0 xamr = o(erzf%h aj are 7 Aeyfh fwf/b &f

— —————

9

360 o/ are

Perimafor e][ glree <@[ Clv‘— o?Y)
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QUESTION

Which one of the following 1s not correct?

The proportion of various items in a pie diagram 1s
proportional to the [2017-11]
(a) Areas of slices

(b) Angles of slices

(¢c) Lengths of the curved arcs of the slices

(d) Perimeters of the slices

ANSWER : (d)



CDS 1 2025 LIVE CLASS - MATHS - PART 6

QUESTION

The weighted arithmetic mean of first 10 natural numbers

whose weights are equal to the corresponding numbers 1s 1P+25+ 'hi_ ;%M é?_qﬂ )
L t 2015-1 ‘ ‘

e | . [+d+ __.» 'z
@ 7 fre;wny (b) 14
(©) 35 (d) 385 (4]
" A

/ / g [#(+ 443 +3%3 __. 1o x/0 :_{”_ﬂ_
9 — 4 Meon = £ - 3

9 g é]{ [+ 3+3+Yy+ . _ /0

- LY N 1| RS

‘ ~ B 3
fo — o [+ L+3¢F._ _ o
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QUESTION

The weighted arithmetic mean of first 10 natural numbers
whose weights are equal to the corresponding numbers 1s

equal to [2015-11]
(@) 7 (b) 14
© 35 (d) 385

ANSWER : (a)
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QUESTION

The median of a set of 9 distinct observations 1s 20.5. If
each of the largest 4 observations of the set is increased by
2, then the median of the new set [2016-11]
(a) 1sincreased by 2

(b) is decreased by 2

(c) 1stwo times the original median

9 remains the same as that of original set

Medar
Wil he  Lame
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QUESTION

The median of a set of 9 distinct observations 1s 20.5. If
each of the largest 4 observations of the set is increased by
2, then the median of the new set [2016-11]

(a) 1sincreased by 2

(b) is decreased by 2

(c) 1stwo times the original median

(d) remains the same as that of original set

ANSWER : (d)
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QUESTION

The geometric mean of (x|, X,, X,, ..., X ) 1s Xand the geometric

mean of (y, ¥,, ¥, -, ¥, ) 1S y Which of the following 1s/are

correct?

L  The geometric mean of (X, y, X, ¥,, X3 ¥5, -, X_ ¥, ) IS
XL

Yi Y2 Y3 Yn S Y/
Select the correct answer using the code given below.
[2014-1]

. X X2 X3 An X
I. The geometric mean of -

(a) Onlyl (b) OnlyII
(c) BothlI and\I} (d) Neither I nor II

L

@
(ZV’ | sz/,,. 13075 - “ndn)

(9{, X ---ln)'% (

M

® 0

Xy

\/\A—/

—

/
[ ) U,
@ - 3 - (Xf 22 T %7)) = —-——X

——

&’ngk’ ok ‘(d(,dfz ,_ﬂ.d,,)",; f
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QUESTION

The geometric mean of (x , x,, X, ..., X ) 1sx and the geometric
. PR z .

mean of (y, ¥, ¥s, ---, ¥, ) 15 y. Which of the following is/are

correct?

L ;l'}e geometric mean of (X, y;, X, ¥,, X3 ¥3, ..., X_ ¥, ) IS

X] X2 X3 ?‘i_nJ - X

yi'vavs v )Y

Select the correct answer using the code given below.
[2014-1]

I. The geometric mean of (

(a) Onlyl (b) OnlyII
(c) BothIandII (d) Neither I nor II

ANSWER : (c)
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